SLUM REHABILITATION AUTHORITY

No: SRA/Maint. Sec./Desk-1/ 12 /2022 Date: 23 - 06 - 2023

QUOTATION NOTICE

- Quotations in sealed covers are invited from the Contractors so as to reach the office of the undersigned at Slum Rehabilitation Authority, Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai- 400 051. on or before 30/06/2022 upt 3.00 p.m. for the work of Providing and erecting waterproof shed over part terrace 5th floor 'C' wing of Slum Rehabilitation Authority, Admin bldg. Bandra (E), Mumbai-400051.
- 2. The estimated cost of the work is Rs. 9,67,725/- (Rupees nine lakhs sixty seven thousand seven hundred and twenty five Only).
- 3. The quotations in sealed cover shall be addressed to the Executive Engineer Maint/SRA, Slum Rehabilitation Authority, Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai- 400 051. The blank quotations can be downloaded from the tender section of SRA website www.sra.gov.in from 23/06/2022 to 30/06/2022 upto 3.00 p.m.
- 4. The quotationer shall quote in ink his percentage offer above/below or at par the estimated cost both in figures and words. The quotation should be submitted in a single sealed Envelope containing forwarding letter, quotation notice and duly filled Schedule-B and signed on each page.
- 5. The name of work for which quotations have been given should be stated clearly on the envelope containing the quotation and name of Contractor should be written on lower left of envelope.
- 6. The sealed quotation will be received by the office of Executive Engineer Maint./SRA, Slum Rehabilitation Authority, Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai- 400 051. upto 3.00 p.m. by 30/06/2022 and will be opened at 3.30 p.m. on the same day as far as possible in the presence of the contractors/their representatives whosoever remain present at that time.
- 7. The quantities as shown in Schedule 'B' are approximate. The payment will be made as per actual quantity of work done.
- 8. The acceptance of quotation shall rest with the competent authority who reserves the right to reject any or all the quotations without assigning any reason for doing so.
- 9. The quotation submitted by the quotationer shall be binding on him for a period of 60 days from the last date of receipt of quotation.
- 10. No alternation in the form of quotation or schedule of quantities, specifications shall be entertained.
- 11. The entire work is to be completed within 30 days.
- 12. The work shall be carried out in accordance with I.S. specifications for the particular items and as per the detailed specifications mentioned in Schedule-B.
- 13. The rates quoted shall be inclusive of all taxes, Octroi Duty and free delivery at site of work and nothing extra shall be paid on any account.

- 14. The quotationer is advised to visit and examine the site of work and its surroundings before quoting the rate and acquaint themselves with the site conditions.
- 15. The contractor will have to make his/ their own arrangement at his/their cost for office and stores and safeguard the materials brought on the work and the materials issued by the department if any.
- 16. The contractor shall provide all labours, tools, pegs, watering and all other materials as required for line out and setting out the layout etc. for the work without claiming any payment.
- 17. After the completion of the work, the contractor shall remove forthwith all his/ their serviceable and un-serviceable materials from site of work and other debris shall be dumped and levelled as ordered within the scope of work if so ordered without any extra cost.
- 18. No escalation shall be paid to the contractor.

Sd/-

Executive Engineer

Slum Rehabilitation Authority

s.		
A		

Copy f.w.c's F.C/SRA for information.

Copy to A.E/SRA, for information and necessary action.

Copy to notice board/SRA.

Copy to information technology department/SRA. For publishing quotation notice along with Abstract on SRA website



SLUM REHABILITATION AUTHORITY

No: SRA/MAINT.SEC./DESK-1/ 12 /2022

Date: 23 - 06 - 2023

Abstract

Subject:

Providing and erecting waterproof shed over part terrace 5th floor 'C' wing of Slum Rehabilitation Authority, Admin bldg. Bandra (E), Mumbai-400051.

Sr. No.	Description	Unit	Quantity	Rates (rs)	Amount (rs)
1	Providing structural steel work in hollow section of various thickness and sizes in square, rectangular and round shape from 25mm to 450mm section as per IS 4923 YST 310 Grade produced from iron ore and blast furnace route etc. as per detailed designs and drawing or as directed including cutting, fabricating, hoisting, erecting, fixing in position, making riveted/bolted/ welded connections and painting complete.	M.T.	2.492	124729.5	310825.91
2	CORRUGATED PRECOATED GI SHEETS	SQ.MT	140.8	1301	183180.80
3	Providing and fixing valley gutter of 22 B.W.G. (0.8 mm) plain galvanised iron sheets 120 cm wide with teak wood planking 20 mm thick including two coats of coal-tarring the upper surface of plank etc. complete. (excluding painting to underside of plank)	RMT	16	3072.3	49156.80
4	Providing and applying two coats Apex Ultima Puranature Anti-Pollution Or equivalent approved brand, paint should decomposes organic substances and inorganic gases(NOx, VOC's, CO, SOx, formaldehydes, etc.) in presence of natural or artificial light. It contains	sq.mt	142.8	390.6	55777.68

	Graphene and nanoparticles of titanium oxide. and Absorbs CO2 (4.8 Kilogram/15 l). plaster crack should be filled by Acrylic base Crack seal/Textured Crack filler, Paint has to applied on one coat of Apex Ultima Puranature Anti-Pollution Primer or Equivalent. Warranty Should be given by the Manufaturer The work should be done by the Manufacturer Recommended applicator and he should be able to furnish stage wise onsite technical reports from the concerned company technologist				A
5	Supplying & erecting inverter LED batten 20W tube light fitting with polycarbonate housing, heat sink, integrated HF electronic driver, Min. 2600 mAh Lithium ion Battery with charging time of 8-10 Hours and backup time of Min. 3 hrs. with minimum 25% of initial Watts having luminous efficacy of 100 lumen/watt, CRI>80, CCT of 6500K and THD<=20% having useful life of minimum 25000 hrs. with overheating protection with 2 years warranty.	NO.	15	1114	16710.00
6	PROVIDING AND ERECTING ROOF MOUNTED EXHAUST FAN FOR PROVIDED SHED ETC COMPLETE IN ALL ASPECTS AS DIRECTED BY THE ENGINEER INCHARGE	NO.	2	9990	19980.00
7	PROVIDING AND SUPPLYING STORAGE RACKS OF HEAVY DUTY FOR OFFICE USE WITH SLOTTED ANGLES AND 5 SLEVES ETC COMPLETE IN ALL ASPECTS AS DIRECTED BY THE ENGINEER INCHARGE	NO.	10	16500	165000.00

			otal Amoun		7725.16	
		CGST SGST	9%		8809.55	
		0.000	Tota	-	0106.07 8809.55	
8	Providing and fixing 34 mm thick moulded door shutter consisting of solid core single leaf flush door of 30 mm thickness lipped with 15 mm (5mm x 3) thick x 30 mm width on one style and top rail and 10 mm (5mm x 2) thick x 30 mm width on other style and bottom rails. The inner panels laminated with 2 mm thick termite proof, water proof and fire resistant moulded PVC sheet with 2,4,6 design in different plain and /or prelim colours on one side after routing the moulded design on flush doors and 2 mm plain and /or pre lam PVC on other side using rubber adhesive on flush door and solvent cement adhesive on the PVC lipping etc. as per direction of Engineer in charge and manufacturers specification and drawing etc. complete.	SQ.MT	2.5	7789.95	19474.	

I/We hereby agree to quote	% Above/Below or At Par with the estimated cost put to the tender.
Therefore, the amount (in figure)	(in words)

Sd/-

Executive Engineer

Slum Rehabilitation Authority